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Q.1 ALU, control unit and
Ans X" A RAM

( B. registers

#5 C.LED display

75 D.ROM

are the three main units of an 8085 microprocessor.

Question Type :
Question ID :
Status:

Chosen Option :

McQ
673502868
Not Answered

Q.2 For an ideal OP-AMP, which of the following is correct?

Ans X A. Infinite output impedance and zero open loop gain
( B. Zero output impedance and infinite epen loop gain
x C. Infinite output impedance and infinite open loop gain

X D. Zero output impedance and zero open loop gain

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502921
Not Answered
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Iy 22k
- AMAA—
POWER | *
SUPPLY | 15V

v

N

Ans XA 527 mA

Q.3  What is the current through the LED in the following circuit, assuming a voltage drop of 2 V across it?

X B.3.72mA
o © 591 mA
& D.8.72 mA
Question Type : MCQ
Question ID : 673502886
Status : Answered
Chosen Option : 3
Q.4 A, 79 F g R @ gErR FAR aer So1 Heror A g8 38 ot wu <t gk 81 Feafaf@a 7 @ foea
SueeoT (Segieer) a9 # wataw adet fafader srufa gman foeta gar 82
Ans  of A pCI
X B. g
5 c.usB
25 D.GPIB
Question Type : MCQ
Question ID : 673502932
Status : Not Answered
Chosen Option : --
Q.5 In a pulse-width modulation (PWM) DC-DC converter, the rectangular voltage and current
waveforms limit
Ans ( A. practically operating frequencies
X B. higher drop at load
X C. boost of the circuit
X D. buck of the circuit
Question Type : MCQ
Question ID : 673502844
Status : Not Answered
Chosen Option : --
Q.6 In the context of core type induction furnace, consider the following:
P) It suffers from pinching effect.
Q) It is suitable for intermittent service.
Ans  off A Pis correct, Q is incorrect
X B. Both P and Q are incorrect
X C. Both P and Q are correct
X D. Pisincorrect and Q is correct
Question Type : MCQ
Question ID : 673502854
Status : Answered
Chosen Option : 3
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HIE A &R
75 A.0.8H3R0.6H

X B.0O5H3R0.9H
o C.09HRO04H
25 D.0.6H3R0.5H

Ans

Q.7 sioflag &t Gaferal & sfiar gra [oTich a1 A1 0.5 & arfeh aar Ram ofik fAodia fem & gaae
e <11 Tk | e WRehed & HEfAT A A2 1.9 H 3R 0.7 H &1 a1 dheforl & @-tRevea &

Chosen Option :

Question Type : MCQ
Question ID : 673502867
Status : Answered
Chosen Option: 3
Q.8 A very standard bus for controlling electronic instruments with a computer is GPIB. Its full
formis:
Ans X A General Purpose Input Bus
X B. General Purpose Infrastructure Bus
X C. General Purpose Instrument Bus
( D. General Purpose Interface Bus
Question Type : MCQ
Question ID : 673502931
Status : Answered
Chosen Option : 3
Q.9 g ART i A A § fohe sioft & siarfa sima ‘\Tg 3iiv ufiaror Suehvor & Sistich’ @t afiga
w?
Ans X" A 3ree) TUTeRIT ) @I : AhUTH Y AT
\f B. 3T<e) TUTENT hl AT : AT AT
25 C. @ uTE B AT« S1edt ket T
5 D. @ urET &) @ ; SiidRen et ) T
Question Type : MCQ
Question ID : 673502882
Status : Not Answered
Chosen Option : --
Q.10 'erren geuichr, 1 & @ fohe 1urerat @i Sioft & siafa amen 82
Ans X" A el UTeRT &) @ : Gediehe @
25 B. @ ura dhl T - Siidfes et e
X C. R e B AT : T fatheral snTd
\f D. 37! T[UTaT chl ST : Ik AT
Question Type : MCQ
Question ID : 673502894
Status : Not Answered
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Q.11 The register used to store the memory address location of the next instruction to be
executed is called:

Ans o A program counter

x B. address register

X C. accumulator

x D. flags

Question Type :

Question ID :
Status :
Chosen Option :

McCQ
673502888
Not Answered

Q12 1n the following circuit, if I, = 3.5 mA, then V,.; is:

Vcc='5V

Ans A 105V
X810V
Xcsv
V045V
Question Type :
Question ID :
Status :

Chosen Option :

MCQ
673502929
Answered
4

Q.13 If a voltmeter has a scale from =5 V to 15 V and can only read integer values of voltages, its

resolution is:
Ans XA 20V
K B.-5V
Wciv
D5y
Question Type :
Question ID :
Status :

Chosen Option :

MCQ
673502902
Not Answered
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Q.14 The barrier potential of a germanium semiconductor is approximately:
Ans  of A 03V

KBV
K co7v
K D12V

Question Type : MCQ
Question ID : 673502857
Status : Answered
Chosen Option: 1

QIS gfeter et #g # v agA F1 ST g SRy # it (terminals) A 3R B WX R ST
¥ 3-Rfoe e w Afe 7w & wile &= & B R & ¥ sla-dr q&fam gaee (best
setting) &2

2 k0 14 k2 A

Ans XA-IQ
v 5 10kQ
X c. 10 MQ
X0 1ko

Question Type : MCQ
Question ID : 673502904
Status : Answered
Chosen Option : 2

and draws a current when the voltage is less

Q.16 A synchronous motor is said to be
than the back EMF.

Ans B A under excited; lagging
x B. over excited; lagging
x C. under excited; leading

( D. over excited; leading

Question Type : MCQ
Question ID : 673502849
Status : Answered
Chosen Option : 1

Q.17 Which of the following configurations is also called an emitter follower?

Ans " A Common Base
x B. Common Emitter

( C. Common Collector

x D. Op-Amp

Question Type : MCQ
Question ID : 673502927
Status : Answered
Chosen Option : 3
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Q.18 The Fermi level for an intrinsic semiconductor lies:

Ans 3" A in the conduction band
x B. in the valance band
J C. midway in the forbidden gap

x D. in the boundary of the conduction band and forbidden gap

Question Type : MCQ
Question ID : 673502885
Status : Answered
Chosen Option : 4

Q.19 fi=-thet URUT HleR & Wex # ufa et ufdl Ul B8 Wile &1 i SaTed Rex Ui 6l Tt fra-it
2?7

Ans X" A6
o B2
K c3
D18

Question Type : MCQ
Question ID : 673502850
Status : Answered
Chosen Option : 2

Q.20 So as to eliminate the effect of lead and contact resistances while measuring low valued
resistances, the is used.

Ans o A Kelvin double bridge

X B. Carey Foster bridge
x C. Hay’s bridge
x D. Owen'’s bridge

Question Type : MCQ
Question ID : 673502912
Status : Answered
Chosen Option: 1
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92! Which of the following is represented in the given figure?

30 50
A M-
! wl
TV 4”5"
Source- P Q
Ans « A

Source-P is a voltage dependent current source and Source-Q is a voltage dependent voltage source.

X B

Source-P is a current dependent current source and Source-Q is a current dependent voltage source.

p

Source-P is a voltage dependent current source and Source-Q is a current dependent voltage source.

75D

Source-P is a current dependent current source and Source-Q is a voltage dependent voltage source.

Question Type : MCQ
Question ID : 673502900
Status : Answered
Chosen Option : 1

.22
Q Which of the following options is true for the balanced condition of the given circuit?

€, R,
[ Ry
Ans R;R,l_
x A. Cl = Cz
CiR;
« B. CZ - R4
R
p N

Question Type : MCQ
Question ID : 673502915
Status : Answered
Chosen Option: 3
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Ans X" A SR aTel 4RI 5 A
X B. I areht aRT 5 A
W C. s areh arr -1 A
25 D. em areh arT -1 A

Q.23 foreft aRuy &, fneft A W, i amEg et &1 At & 3ma arelt &mRT (incoming current) 2 A @

3R 37 @ 1 et @ ST areft 9RT (outgoing current) 3 A g1 Y errar & ghftl

Chosen Option :

Question Type : MCQ
Question ID : 673502925
Status : Answered
Chosen Option: 3
Q24 The phasor values of voltage and current are:
V=100,30":] =102 — 45°
What is the phase difference between them?
Ans ( A 758
X B.45°
X ¢ 30°
/K D.15°
Question Type : MCQ
Question ID : 673502919
Status : Answered
Chosen Option: 1
Q.25 In which of the following modes in 8255A PPI can Port A be used as a bidirectional data
bus?
Ans X" A BSR Mode
o B.Mode 2
x C. Mode 0
x D. Mode 1
Question Type : MCQ
Question ID : 673502869
Status : Not Answered
Chosen Option : --
Q.26 The 8251A programmable communication chip is designed for:
Ans x A. synchronous and asynchronous parallel data communication
x B. synchronous parallel data communication only
x C. synchronous serial data communication only
( D. synchronous and asynchronous serial data communication
Question Type : MCQ
Question ID : 673502889
Status : Not Answered
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band and conduction band?

Ans X" A Superconductor

J B. Insulator

x C. Semiconductor
X D. Conductor

Q.27 Which of the following materials has an energy gap of more than 3 eV between the valence

Question Type : MCQ
Question ID : 673502876
Status : Answered
Chosen Option : 2
Q.28 Which of the following is NOT an automatic control system?
Ans x A. Sun tracker solar system
x B. Thermostat heater
o C. Electric hand drier
x D. Voltage stabiliser
Question Type : MCQ
Question ID : 673502871
Status : Answered
Chosen Option : 3
Q.29 Input voltage and input current of a common emitter configuration BIT circuit is:
Ans
W A Vg and I
K B Vggand I
2~ CVegandl,
5 D. Vg and I
Question Type : MCQ
Question ID : 673502906
Status : Answered
Chosen Option : 1
Q.30 Which of the following has the largest number of free electrons?
Ans X A. Extrinsic semiconductor
x B. Intrinsic semiconductor
( C. Conductor
x D. Insulator
Question Type : MCQ
Question ID : 673502856
Status : Answered
Chosen Option : 3
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Q.31 C %3z #r uiftar aer fsead F @y s9er e s g gty Pades (freer) aamr fRee anr
#F gfemEmr & S g

Ans X A Tdhdh
< B.2nfC
v C 3ad
&K 0.

Question Type : MCQ
Question ID : 673502858
Status : Answered
Chosen Option: 3

Q.32 The voltage and current of a single phase circuit are related by pair of equations: 2V + 31 =
530; V - I = 190. If the power factor is 0.8, the power of the circuit is:

Ans o A 528 KW

< B.2.64 kW

X c.33kw
75 D.6.6kW

Question Type : MCQ
Question ID : 673502918
Status : Answered
Chosen Option: 1

933 Which of the following logical expressions is INCORRECT?

Question Type : MCQ
Question ID : 673502878
Status : Answered
Chosen Option : 3

Q.34 1dentify the two-input logic gate with inputs A and B and output Q, whose truth table is given here.

Truth Table
A B Q
0 ] 0
0 1 1
1 o 1
L 1 0

Ans X" A X-NOR
& B. NOR
+ ¢ XOR
5 D.NAND

Question Type : MCQ
Question ID : 673502893
Status : Answered
Chosen Option: 3
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Q.35 afk ¥hu gea & fomr srgafaa Sfte-arer 20 af &, af @dest oflk dwmoe & forg 22,00,000/-
R TEATYT ARTH UR T aTieh S[eeh <l TUMT 3 | SATST &R aTieh Tehqfeg w9 9 5% &1

Ans X' A 25760
25 B.210000

o C.215760

25 D.212250

Question Type : MCQ
Question ID : 673502852
Status : Not Answered
Chosen Option : --

Q.36 The peak inverse voltage (PIV) rating of a half wave rectifier, having a maximum value of input as 100 V, is
minimum:

Ans  of A 100V
XB50V
c—V

e p

X D.200V

Question Type : MCQ
Question ID : 673502907
Status : Answered
Chosen Option : 4

Q.37 1 HyEl W AR &R iR e Iugeh feed &1 Ta=1 |

A: af Uer Ufie we ultuy sreaa (afdhe gefide) @ et o &, ot ag aifanrs &) smem
B: af Uep dtveriiex ges uRuw & @y sioft & a1 gon &, 7t ag eifewa gt smemi

Ans o A ATTE, A B s )
7% B. @t aher orre €1
75 C.BT@ R, A A s B
75 D A dE g gl

Question Type : MCQ
Question ID : 673502901
Status : Answered
Chosen Option: 1

Free Downloaded From - www.exammix.com




Visit - www.exammix.com & Download : All CBT Previous Question Papers (Hindi & English)

%% The transfer function of the system shown below is:
R
o—vWA o
Vin Ce== Vout
o O
Ans
x A Vaut(sj — C
Vin(s) RCs+1
Vaut (S)
B. _—
x D RCs +1
X c. Vout (S) _ R
V.(s) Cs+1
( D Vaut (S) _ 1

"V..(s) RCs+1

Question Type : MCQ
Question ID : 673502873
Status : Not Answered
Chosen Option : --

Q.39 A current i(t) =2 + 8 sin(wt) is measured using a moving iron type meter. The value read by it is:

Chosen Option :

Ans x A8 A
X B+32A
vceA
KD2A
Question Type : MCQ
Question ID : 673502916
Status : Answered

3

Q.40 In AC to AC converters, voltage is controlled using forced commutationby ______.

Ans x A. Gate Off Triode Gate Turn-on Triodes
x B. Gate Bipolar Transistors Gate Terminal Open Thyristors

x C. Gated Off Transistors Gated Turn-on Transistors

o D. Gate Turn-off Thyristors (GTO)

Question Type :
Question ID :
Status:

Chosen Option :

McQ
673502846
Not Answered
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Q.41 HART is a digital communication protocol for sending and receiving information. It uses
which of the following current loop standards?

< A.120-140 mA

o B.4-20mA

25 €.50-80 mA

Ans

75 D.40-100 mA

Question Type :
Question ID :
Status:

Chosen Option :

McQ
673502923
Not Answered

Q.42 In an asynchronous counter using D flip-flop, which of the following is true?

Ans ( A. Output of one flop is given as the clock to the next flip-flop.
X B. Clock signal is derived from independent signal generators.
x C. Same clock signal is given to all flip-flops.

x D. Alternate flip-flops are given the same clock signal.

Question Type : MCQ
Question ID : 673502884
Status : Answered
Chosen Option: 1
Q.43 Inseries with a parallel combination of a capacitor and inductor. a resistor of 20 Q (as shown in the given figure) is
connected. If the current drawn from the supply is lagging voltage by 45° and the angular frequency is 1000 rad's,
the value of capacitance is "
Xo
— o -
R=200 w2
15 mH
i
@
S
V. = 1000 rad's
Ans X A 8.67 UF
X 81333 uF
X C12.33 uF
W 0.16.67 uF
Question Type : MCQ
Question ID : 673502865
Status : Not Answered
Chosen Option : --

Q.44 An 8086 microprocessor is designed to have data lines and address lines.

K A 16,16
K B.12,16
5 C.20;16
o D.16;20

Ans

Question Type :
Question ID :
Status :

Chosen Option :

MCQ
673502883
Answered

1
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Q.45 Which of the following statements is FALSE regarding semiconductor devices?

Ans x A. Current and electrons move opposite to each other
x B. Holes are majority charge carriers in p-type semiconductors
x C. Electrons and holes move opposite to each other

J D. Current and holes move opposite to each other

Question Type : MCQ
Question ID : 673502905
Status : Answered
Chosen Option : 4

Q.46 Yok UMY TYR HITSH &, I ¥RT uaef= 7oreh 0.9 § 3R Isieh URT 1 mA g, af STTUR URT
A &I

Ans  of A 01 mA

5B 11T mA
25 C.09mA
25 D.1.9mA

Question Type : MCQ
Question ID : 673502862
Status : Answered
Chosen Option : 1

Q47 What is the simplified logical expression of the given diagram?

/ a

Ans of A Q= ABC + AB + AC
X 8Q=ABC+AB+C)
X cQ=ABC+ AB+ AC
X0Q=AB+AB + AC

Question Type : MCQ
Question ID : 673502881
Status : Answered
Chosen Option: 1
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Q48 T the given circuit, if Vz; = 1V, then I; is:

Ve =15V

3.5 k0

Ans 3 A (0.4 mA
/< B 0.2 mA
K C2mA

(D-ﬁlmA

Question Type : MCQ
Question ID : 673502910
Status : Answered
Chosen Option : 4

Q.49 If semiconductor M has a knee voltage of 0.7 V, whereas semiconductor N has a knee
voltage of 0.3 V, then:

Ans ( A. M is silicon; N is germanium
X B. Mis silicon; N is germanium arsenide
x C. M is germanium arsenide; N is silicon

X D. M is germanium; N is silicon

Question Type : MCQ
Question ID : 673502908
Status : Answered
Chosen Option: 1
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@59 Which of following is represented in the given figure?
1Q i 100
A AA'S M\
VH le
20 st
Source- M Source- N
- -

Ans x A

Source-M is a voltage dependent current source and Source-N is a voltage dependent current source.

< B

Source-M is a voltage dependent current source and Source-N is a cuwrent dependent current source,

v

Source-M is a current dependent current source and Source-N is a voltage dependent current source.

5D

Source-M is a current dependent current source and Source-N is a voltage dependent voltage source.

Question Type : MCQ
Question ID : 673502926
Status : Answered
Chosen Option : 3

Q31 Average value of the waveform shown below is

20V

O 01 02z 03 pa t
seconds

Ans X ATOV
X B333V
V667V
X020V

Question Type : MCQ
Question ID : 673502887
Status : Answered
Chosen Option : 4

Q.52 Which of the following devices is called a ‘voltage-controlled capacitor'?
Ans X" A LED

x B. Shockley diode
X C. Photo diode
J D. Varactor diode

Question Type : MCQ
Question ID : 673502861
Status : Answered
Chosen Option : 4
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Q.53 A moving coil instrument having 50 Q resistance shows full-scale deflection with 2 mA. If a resistance of 0.2 Q is
added in parallel to extend its range, then its range is extended to:

Ans X A.251 mA

Chosen Option :

X 51002 mA
& ©.202 mA
W 0502 mA
Question Type : MCQ
Question ID : 673502903
Status : Answered
Chosen Option : 4
Q.54 Which of the following is the normal cell voltage of a lithium ion battery?
Ans XA 15V
W36V
K ci2v
K D25V
Question Type : MCQ
Question ID : 673502866
Status : Answered
Chosen Option : 4
Q.55 Which of the following is the correct formula for form factor of an alternating voltage waveform?
Ans X A average value
rms value
rms value
average value
x peak value
C.
average value
rms value
D——F
peak value
Question Type : MCQ
Question ID : 673502864
Status : Answered
Chosen Option : 2
Q.56 Which of the following is NOT a time domain specification of a second order system?
Ans x A. Rise time
X B. Settling time
x C. Maximum overshoot
( D. Time constant
Question Type : MCQ
Question ID : 673502874
Status : Not Answered
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Q.57 During the testing of an energy meter, what are the required voltage and current conditions

for a creep test?

Ans X A. Applied voltage: 110% of marked value of voltage; Applied current: 0.5% of marked

value of current

X B. Applied voltage: marked value of voltage; Applied current: open circuit

X C. Applied voltage: marked value of voltage; Applied current: 0.5% of marked value of

current

( D. Applied voltage: 110% of marked value of voltage; Applied current: open circuit

Question Type : MCQ
Question ID : 673502917
Status : Not Answered
Chosen Option : --
Q.58 When the gate signal is removed in a thyristor, it will remain in its forward conduction mode.
This characteristic of the thyristor is called
Ans X" A GATE-on
( B. latching
X C. off blocking
X D. ever conducting
Question Type : MCQ
Question ID : 673502843
Status : Answered
Chosen Option: 2
Q.59 For a 20-kVA transformer, the iron and copper losses at full load are 300 W and 250 W,
respectively. What is the transformer efficiency under full load at unity power factor?
Ans  of 1 9732%
75 B.48.66%
25 C.98.52%
25 D.98.76%
Question Type : MCQ
Question ID : 673502848
Status : Answered
Chosen Option : 1
Q.60 In an 8086 microprocessor, in order to enable higher order byte of data, signal is used.
Ans X ADEN
X 8 DT/R
X c.ALE
v 0. BHE
Question Type : MCQ
Question ID : 673502895
Status : Not Answered

Chosen Option :
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Q.61 To optimise the economic limit, power factor is improved by installing

Ans " A KVA rating devices

X B. transformers
( C. static capacitors

x D. energy meters

Question Type : MCQ
Question ID : 673502853
Status : Answered
Chosen Option : 3

Q.62 Number of NAND gates required to realise a half adder circuit is

Ans  of A five
x B. three
X C. six
x D. four

Question Type : MCQ
Question ID : 673502879
Status : Answered
Chosen Option : 1

Q.63 Starting just after unknown resistance, if three known resistances of Kelvin's bridge are X, 2X and 4X, respectively,
then the value of unknown resistance is:

Ans x AX
V52X

o X
K c—
2

X 0.8X

Question Type : MCQ
Question ID : 673502913
Status : Not Answered
Chosen Option : --

Q.64 If semiconductor X has an energy band gap of 0.67 eV, whereas semiconductor Y has an
energy band gap of 1.1 eV, then:

Ans x A. X is germanium arsenide; Y'is silicon
x B. X is silicon; Y is germanium
x C. X is silicon; Y is germanium arsenide

f D. X is germanium,; Y is silicon

Question Type : MCQ
Question ID : 673502928
Status : Answered
Chosen Option : 4
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Q.65 Identify the device whose V-I characteristics are shown in the given image.

Fivols)

v} 0.07V 0.7V

Ans X A MOSFET
' & Tunnel diode
X CLED
/< p.Photo diode

Question Type : MCQ
Question ID : 673502859
Status : Answered
Chosen Option : 2

Q.66 Which of the following is an automatic control system?

Ans o A Autonomous car
x B. Hair dryer
#5 C. Electric hand drier

x D. TV remote control

Question Type : MCQ
Question ID : 673502891
Status : Answered
Chosen Option: 1

Q67 In the given figure, the voltage across R is:

-+
15V g R

[ ]

Ans XA.ZIV
VB3V
Xcov
X D17V

Question Type : MCQ
Question ID : 673502899
Status : Answered
Chosen Option : 2
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Q.68 The DC voltage transfer of a push-pull converter is

Ans x A. n/D; D: duty cycle, n: ratio of primary to secondary winding
( B. 2D/n; D: duty cycle, n: ratio of primary to secondary winding
x C. D/n; D: duty cycle, n: ratio of primary to secondary winding

x D. 2n/D; D: duty cycle, n: ratio of primary to secondary winding

Chosen Option :

Question Type : MCQ
Question ID : 673502845
Status : Not Answered
Chosen Option : --
Q.69 For an ideal OP-AMP, which of the following is correct?
Ans x A. Zero input impedance and infinite bandwidth
i B. Infinite input impedance and infinite bandwidth
X C. Infinite input impedance and zero bandwidth
x D. Zero input impedance and zero bandwidth
Question Type : MCQ
Question ID : 673502930
Status : Answered
Chosen Option : 2
Q.70 Energy lost due to hysteresis during each cycle in the core of a transformer working at 50
Hz is 6 J. What will be the power loss due to hysteresis?
Ans  of A 300w
25 B.100W
25 c.e00W
5 D.200W
Question Type : MCQ
Question ID : 673502877
Status : Answered
Chosen Option: 1
Q.71 A voltmeter has a scale from =15 V to 5 V. Its span is:
Ans  of 7 20V
X B5V
K Cc.-15V
A D5y
Question Type : MCQ
Question ID : 673502898
Status : Answered

1
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Q.72 A consumer has five lamps of 40 W each and two fans of 300 W each. On an average, he

uses the appliances for five hours a day. Find the energy consumption for the month of

April.
Ans X" A 124 kWh
o B.120kwh
5 C.60kwh
25 D.62kWh
Question Type : MCQ
Question ID : 673502851
Status : Answered
Chosen Option : 2
Q.73 Which of the following materials is used in resistance thermometers?
Ans X" A Gold
X B. Nichrome
« C. Platinum
x D. Kanthal
Question Type : MCQ
Question ID : 673502875
Status : Answered
Chosen Option : 3
Q.74 The material used as an electric heating element is:
Ans X" A aluminium
( B. nichrome
X C. tungsten
x D. copper
Question Type : MCQ
Question ID : 673502892
Status : Answered
Chosen Option: 2
Q.75 A shift register using flip-flops is called a .
Ans X" A dynamic shift register
x B. flip-flop shift register
X C. universal shift register
( D. static shift register
Question Type : MCQ
Question ID : 673502896
Status : Not Answered

Chosen Option :
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A7 o oo oftgy & 10 V T IR 3ERT AT (power) T F

1wV
+| =

(O "

Chosen Option :

3A
Ans - X AS0W
X B30W
vc2ow
X DI0OW
Question Type : MCQ
Question ID : 673502897
Status : Answered
Chosen Option : 3
Q.77 If the deflecting torque is A, controlling torque is B and damping torque is C, then for an
indicating type instrument:
Ans X' AB=C
W BA=B
K CA=C
X DA+C=B
Question Type : MCQ
Question ID : 673502911
Status : Answered
Chosen Option : 4
Q.78 Once a signal is sensed, before transmitting, many a times linear or non-linear operations
are performed on the signal. This process is known as:
Ans X" A impedance matching
( B. signal conditioning
x C. data termination
x D. data manipulation
Question Type : MCQ
Question ID : 673502920
Status : Not Answered
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Q.79 A JFET has a drain current of 5 mA. If Ipgs = 10 mA and Vys(eue o) = —6 V. the value of Vg will be:

Ans o A—1.T6 V
X B3leV
X c—316V
X D0l1.76 V
Question Type : MCQ
Question ID : 673502863
Status : Not Answered
Chosen Option : --
Q.80 In a thyristor converter drive, during the firing angle is maintained to achieve
controlled and predictable deceleration at all times.
Ans ( A. braking
x B. controlled modulation
x C. surging
x D. chopping
Question Type : MCQ
Question ID : 673502855
Status : Not Answered
Chosen Option : --
Q.81 For contactless body temperature measurement, advanced thermometers are used. They
are based on:
Ans J A. infrared radiation
x B. ultra-violet radiation
x C. laser beams
x D. alpha particles
Question Type : MCQ
Question ID : 673502922
Status : Answered
Chosen Option: 1
Q.82 Which of the following instrument control buses is called ‘IEEE-488 bus'?
Ans X" A USB
x B. Ethernet
5 c.pal
o D.GPIB
Question Type : MCQ
Question ID : 673502924
Status : Not Answered

Chosen Option :
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Q.83 The value of a series resistor to be connected in series to limit the current through a LED to 20 mA, assuming a
forward voltage of 1.6 V when connected to a 10 V supply, is:

Chosen Option :

Ans  of A 420Q
X 82600
X 2400
X D.620 Q2
Question Type : MCQ
Question ID : 673502860
Status : Answered
Chosen Option: 1
Q.84 The gray code equivalent of the decimal number 5 is
Ans & A 1000
75 B.1100
75 c.o101
W D.0111
Question Type : MCQ
Question ID : 673502880
Status : Answered
Chosen Option : 4
Q.85 What is the average value of output of a chopper with duty ratio 0.5 and source voltage 50
Vv?
Ans X" A 200V
W 825V
/& C.100V
< D50V
Question Type : MCQ
Question ID : 673502847
Status : Not Answered
Chosen Option : --
Q.86 Which of the following statements is correct regarding bridges available for inductance
measurement?
Ans x A. Hay'’s bridge is used for coils having Q < 10, whereas Anderson’s bridge is used for
very high Q coils.
x B. Hay's bridge is used for coils having Q > 10, whereas Maxwell's bridge is used for
very high Q coils.
( C. Hay'’s bridge is used for coils having Q > 10, whereas Maxwell's bridge is used for
coils having 1< Q< 10.
x D. Hay's bridge is used for coils having Q < 10, whereas Anderson’s bridge is used for
very low Q coils.
Question Type : MCQ
Question ID : 673502914
Status : Not Answered
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2070H is executed?
Ans x A.2070H is loaded in H register.

x B. 70 H is loaded in H register and 20 H is loaded in L register.
X C. Content of the memory 2070H is loaded in H register.

J D. 20 H is loaded in H register and 70 H is loaded in L register.

Q.87 Which of the following will be done in an 8085 microprocessor when an instruction LXI H

Question Type :
Question ID :
Status :

Chosen Option :

MCQ
673502870
Not Answered

Q.88 In 8085 microprocessors, MVI A, 23H is an example of which addressing mode?

Ans X A Indirect addressing
( B. Immediate addressing
x C. Direct addressing

X D. Register addressing

Question Type :

Question ID :
: Not Answered
Chosen Option :

Status

McQ
673502890

Chosen Option :

.89 s 1P
Q The final value of a system whose transfer function is represented by F(s) = ﬁ is:
5 5
Ans X A02
V50
/< C.unity
< 0. infinity
Question Type : MCQ
Question ID : 673502872
Status : Not Answered
Chosen Option : --
Q.90 For a BJT, if the collector and emitter currents are 147 mA and 150 mA, respectively, then
the current ratio (B) is:
Ans X" A 0.98
W B 49
/5 c.o8
< D.0.49
Question Type : MCQ
Question ID : 673502909
Status : Answered

2

Section : Numerical and logical reasoning questions
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Q.1 Select the option that is related to the third number in the same way as the second number
is related to the first number.

169:13::361:?

Ans x A 17
25 B.20
v co
D18

Question Type : MCQ
Question ID : 673502946
Status : Answered
Chosen Option: 3

Q.2 Select the option that will fill in the blank and complete the given series.

132, 66,66, ____, 198, 495
Ans X" A 121

/5 B.88
W c o
X D72

Question Type : MCQ
Question ID : 673502952
Status : Answered
Chosen Option : 3

Q.3 Uch ug, AT 3R A Tk hIfRIT IR Yeh-goR § SITHA-THR a1d oy 38 91 afe 39 i srn
TauaT & 8iek 1€ SR U gt oft, &t Aravan @ Hg R R F ur?

Ans  of A cfErr
X B
K C.3R
25 D.ufgm

Question Type : MCQ
Question ID : 673502938
Status : Answered
Chosen Option : 1

Q.4 study the given pattern carefully and select the number that can replace the question mark (?) in it.

6 4 zi
27 15 2
s & &
Ans XA-EZ
< B29
X cls

V18

Question Type : MCQ
Question ID : 673502949
Status : Answered
Chosen Option : 4
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Q.5 Pis the sister of Q, R is the mother of Q, and S is the father of R. How is P related to S?
Ans X" A Mother

X B. Grandmother

X C. Daughter
J D. Granddaughter

Question Type : MCQ
Question ID : 673502933
Status : Answered
Chosen Option : 4

Q.6 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

[4] G [€]

(] @[]

alejan
Ans X A 64

X< B.36

Xcs

V' 050

Question Type : MCQ
Question ID : 673502948
Status : Answered
Chosen Option : 4

Q.7 Select the number from among the given options that can replace the question mark (?) in
the following series.

4,5,12,39,160,?
Ans  of A 805

< B.292
& C.640
75 D.350

Question Type : MCQ
Question ID : 673502942
Status : Answered
Chosen Option: 1
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Q.8  select the figure from the options that can replace the question mark (?) and complete the series.

® 0 00 |y x xX X LI B N
AA X ? (] |
x A 1 -
(&) (B) () (D)
Ans
v EEERN
A. —-—
L ]
A A A A
xs H N
x ¢ t.i
EEER
<D X

Question Type :
Question ID :
Status :

Chosen Option :

MCQ
673502939
Answered

1

Q.9 Six friends are sitting in a circle and are facing the centre of the circle. Gagan is between
Suraj and Tushar. Ratnesh is between Mukesh and Mayur. Suraj is to the left of Mukesh.
Who is second to the right of Gagan?

Ans X A Tushar

X B. Mayur
o C. Mukesh
x D. Suraj
Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502936
Answered
3

Q.10 Select the number from among the given options that can replace the question mark (?) in
the following series.

12,15, 19, 24, 30, ?

Ans  of 5 37
75 B.36
/< c.38
5 D.35
Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502941
Answered
1
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Q.11 1n the given diagram, the circle represents post-graduate doctors. the rectangle represents doctors who work in
government hospitals, the square represents doctors who work in private hospitals and the triangle represents
graduate doctors.

8
/ 1o§ ?

1z 6 |13

According to the diagram, identify the number showing doctors who are graduate, post-graduate and working in
government hospitals but NOT working in private hospitals.

Ans XA-Jz
XB6
xcll
Vo4

Question Type : MCQ
Question ID : 673502940
Status : Answered
Chosen Option : 4

Q.12 Qe gug, IHART &ffior &t $iiR 7 faeft et § ofir foRr orueit a1 ofik 73 1<t 81 6 fomeft oo &
a1E, ag o=t arg Sk g3 o 9 feft Tereht &1 fi, ag srueht &t ofik 3 o 2 ot =rereht &1 s
ag o1 uRY foig @ fhw R A @2

Ans X7 A zfaror
X B.ufm
X .- ufgm
o D. 2o - ufgm

Question Type : MCQ
Question ID : 673502937
Status : Answered
Chosen Option : 4

Q13 Which of the following is true for the equation 6y — 8 = 77

Ans

. 5
A e
X 22
5
(B-}'E‘i
Xcy=15

_ 7
D. -
< ¥E5

Question Type : MCQ
Question ID : 673502950
Status : Answered
Chosen Option : 2
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a1 Which of the following is true for the equation 8x — 6 > 2x + 4?

Ans

5

A. £
~ =
5
XB-I{E

b
JC.x‘}g

3
XD'X}E

Question Type : MCQ
Question ID : 673502951
Status : Answered
Chosen Option : 3

Q.15 Read the given information carefully and answer the following question.
1) A + B means A is the son of B.
2) A x B means A is the father of B.
3) A - B means A is the sister of B.
Which of the following relations shows that Q is the grandfather of S?
Ans A P+Q-RxS
( B.P+QxRxS
X cQ-PxR-S
/< D.Q+PxRxS

Question Type : MCQ
Question ID : 673502934
Status : Answered
Chosen Option : 2

Q.16 Select the option that is related to the third number in the same way as the second humber
is related to the first number.

429:555::842:?
Ans X" A 984

/X B.962
#5 C.1008
o D.293

Question Type : MCQ
Question ID : 673502947
Status : Answered
Chosen Option : 4
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Q.17 R,P 3R J g9 & 3R C, S wd T AfRerd §1 & &} arent-arent ufkal & 59 ovg 43 & &6 qow ar

g afgensii i ez g1
R 3R C faepvfa: uor-geR & ww@ &1
J freft sfi sR R i o1 81
ChawTas gl
qarg &k J & 99 i do1/ad1 §?
Ans x A.C
X B.P
J C.T
Xobs
Question Type : MCQ
Question ID : 673502935
Status : Answered
Chosen Option : 3
Q.18 Select the number from among the given options that can replace the question mark (?) in
the following series.
20, 22, 27, 38, 55, ?
Ans o' A 78
KB 72
X C.76
5 D.74
Question Type : MCQ
Question ID : 673502943
Status : Answered
Chosen Option : 1

Q.19 Select the option that is related to the third number in the same way as the second number
is related to the first number.

6:36::12:?
Ans X" A 36
& B.120
of C 144
25 D.84
Question Type :
Question ID
Status

Chosen Option :

MCQ

1 673502945
: Answered
3
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the following series.

6,4,10,7,2,10,30, 13

Q.20 Select the number from among the given options that can replace the question mark (?) in

Chosen Option :

Ans x A 16
v &R
X co
A D7
Question Type : MCQ
Question ID : 673502944
Status : Answered
Chosen Option : 2
Section : Computer Application
Q.1 A 9 2 chged & fiw wise wHiaRur & g Aafaf@a 3 9 fra mietents @ suahr farar
STt 82
Ans  off A FTP (il
5 B. SMTP (qagaéh)
25 C. TELNET (3+¥e)
25 D HTTP (qaéérd)
Question Type : MCQ
Question ID : 673502972
Status : Answered
Chosen Option: 1
Q.2 Which of the following is NOT a web browser?
Ans X" A Internet Explorer
X B. Chrome
o C.Baidu
x D. Safari
Question Type : MCQ
Question ID : 673502968
Status : Answered
Chosen Option: 3
Q.3 MS-Excel &, @< # utaq, S 3R i g Tehd &1 91 d Tnail o fawiee Saor = g?
Ans X' A gHEER (FRGT)
X g
X c.a#s
o D.ad
Question Type : MCQ
Question ID : 673502964
Status : Not Answered
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PowerPoint 2016 from the current slide?

Ans  of A shift+F5

/X B.Ctrl +F4

5 C. shift + F4

S D.ctrl+F5

Q.4 Which of the following key combinations can be used to start a slideshow in MS-

Chosen Option :

Question Type : MCQ
Question ID : 673502966
Status : Not Answered
Chosen Option : --
Q.5 What is the length of an IPv4 address?
Ans X" A 16 bits
x B. 8 bytes
5 C.24bits
( D. 8 nibbles
Question Type : MCQ
Question ID : 673502971
Status : Not Answered
Chosen Option : --
Q.6 Which of the following hardware units directs operations within a computer’s processor?
Ans X A. Input-Output port
75 B.RAM
i C. Control Unit (CU)
x D. Arithmetic and Logic Unit (ALU)
Question Type : MCQ
Question ID : 673502954
Status : Answered
Chosen Option : 1
Q.7 Which of the following is used to convert a file into a portable format?
Ans A Antivirus
( B. Acrobat Writer
x C. Web browser
X D. WinZip software
Question Type : MCQ
Question ID : 673502960
Status : Not Answered
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Q.8 What does the letter 'S' in HTTPS stand for?
Ans  of A secure

x B. Seamless

X C. Synchronous

x D. Service

Question Type : MCQ
Question ID : 673502969
Status : Answered
Chosen Option : 4

Q.9 F=fafEa d & -4 () wu= gt & (8)?

(i) MS-Word a=amast |, [ a7 31fdh arforerd gt dehet &1
(ii) MS-Word ZaTa< #, ‘Enter’ grofl 2Rl SUGRT thich URTITH ST ST &1

Ans o A (i) 3R (i) 2t
25 B () T8 (i)
25 C. &ad (i)
25 D. &ae (i)

Question Type : MCQ
Question ID : 673502967
Status : Not Answered
Chosen Option : --

Q.10 Which of the following allows to connect hardware devices such as mouse and keyboard to

your computer?
Ans X" A AGP slot

X B. Capacitor
o C.UsB port

X D. Power connector

Question Type : MCQ
Question ID : 673502955
Status : Answered
Chosen Option : 3
Q.11 Which of the following is an example of an application software?
Ans X" A Windows
x B. Linux
J C. WordPad
5 D. Unix
Question Type : MCQ
Question ID : 673502958
Status : Answered
Chosen Option : 3
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Google Chrome?

Q.12 Which of the following keyboard shortcuts is used to open the ‘History’ page in a new tab in

Chosen Option :

Ans X" A Alt+H
25 B.Ctrl+Y
Aocctl+T
o D.Ctrl+H
Question Type : MCQ
Question ID : 673502970
Status : Answered
Chosen Option: 1
Q.13 Which of the following is a non-impact printer?
Ans X" A Daisy wheel printer
X B. Dot-matrix printer
X C. Drum printer
f D. Inkjet printer
Question Type : MCQ
Question ID : 673502957
Status : Not Answered
Chosen Option : --
Q.14 fASist & deia & 1 & @ Bl 91 F YU 3 9/TTed 87
Ans X' A ety & Frerelt difdrer W (sfen giRGliee wi1e) i CReaR &g iTdl 8
X B. fiEs Riew #, feefie 1y aimgen srerdt w0 @ Rarend & & Gudid g o 81
W C. RS 10 weierf@i &t woité 78 awar 21
25 D. firee Rew &) afé ufthan & are, Raré 23 areht ugelt SR ol 2wheld sl ST 81
Question Type : MCQ
Question ID : 673502959
Status : Answered

3

located on the

< A.ROM
x B. keyboard
i C. motherboard

5 D.RAM

Ans

Q.15 CPU, RAM, hard drive and ports for input and output devices in a computer system are all

Question Type :

Question ID
Status

Chosen Option :

McQ

: 673502953
: Answered
3

Free Downloaded From - www.exammix.com




Visit - www.exammix.com & Download : All CBT Previous Question Papers (Hindi & English)

MS-Word 2016 document?
Ans X" A At+C

Q.16 Which of the following keyboard shortcuts can be used to Center Align paragraphs in an

Chosen Option :

B+
o coul+E
Zop.ctl+c
Question Type : MCQ
Question ID : 673502963
Status : Not Answered
Chosen Option : --
Q.17 Microsoft Word is a:
Ans x A. graphics software
J B. word processor
x C. language processor
X D. compression software
Question Type : MCQ
Question ID : 673502962
Status : Answered
Chosen Option : 2
Q.18 Which of the following is NOT a valid absolute cell address in MS-Excel?
Ans XA $AZ$10
/5 B.$ABS1
25 C.SAASS
of D.$A5S
Question Type : MCQ
Question ID : 673502965
Status : Not Answered
Chosen Option : --
Q.19 Which of the following statements is/are FALSE?
(i) Windows operating systems support GUI.
(ii) Unix is a multiuser operating system.
Ans X" A Both (i) and (i)
25 B. Only (i)
25 C. only (ii)
( D. Neither (i) nor (ii)
Question Type : MCQ
Question ID : 673502961
Status : Not Answered
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Q.20 Which of the following is NOT an output device?
Ans " A Plotter

( B. Microphone

25 c.vou
x D. Printer

Question Type : MCQ
Question ID : 673502956
Status : Answered
Chosen Option : 2

Section : GK Awareness

Q.1 fre sidta woa & Hiam ar L2 & ary &t @ srufa uffw J yem, gd d =iaR, sw 4 e
3R =7

Ans X A g
25 B. aifea
of C. s war
X D. stz

Question Type : MCQ
Question ID : 673502973
Status : Answered
Chosen Option : 4

Q.2 2020 & Htae 2nifd qRERR & forst wwfAe forar mar 82
Ans X" A farsy T e

X B.Rgds

X C. wefterer 1 e §etege

o D. Ry e ardem

Question Type : MCQ
Question ID : 673502982
Status : Answered
Chosen Option : 4

Q.3 Which country hosted the World Wrestling Championship in 1967?
Ans X" A United states

25 B. Japan
W C.india

x D. Turkey

Question Type : MCQ
Question ID : 673502976
Status : Not Answered
Chosen Option : --
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lockdown in Mumbai, return home?

Ans X" A Abhishek Bachhan
X B. Bobby Deol
( C. Sonu Sood

x D. Ayusman Khurana

Q.4 Which Bollywood actor helped thousands of migrant workers, stranded by the Covid-19

Chosen Option :

Question Type : MCQ
Question ID : 673502981
Status : Answered
Chosen Option: 3
Q.5 In which year was the Basketball Federation of India set up?
Ans  of A 1950
25 B. 1948
X C.1949
25 D.1953
Question Type : MCQ
Question ID : 673502975
Status : Not Answered
Chosen Option : --
Q.6 W@ w4 @ # ¥ $fEan dhut & &l ol Fafa & & g fRfesr dug gri f=fefaa &
@ opi-a1 sifdfFam wiRe frar man ar?
Ans X" A 1858 & sifdfam
o B. 1773 @ Rt sfafam
25 C. 9Ra geehr ifdfEE 1919
25 D. fae &1 wra sfdfam 1784
Question Type : MCQ
Question ID : 673502974
Status : Answered

4

Ans  off A 13 sa 1990
25 B. 2 3@gER 1990
25 C. 157 1990
X D. 1 5Ha 1990

Q.7 YRd YRFHR A 'S AU ZRT Uk 312 &hd ST fohar St dikia Qarait ok ardwifAes sushat
# Al & fog St 3k Yeifores ®u @ s aul ot 27% SMRET0T 6l UTaeT= &Rl g?

Question Type :
Question ID :
Status :

Chosen Option :

MCQ
673502977
Not Answered
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Q.8 Origami, the art of paper folding, is famous in:
Ans « A. Japan

x B. Malaysia
25 C.Theus
X D. Canada
Question Type : MCQ
Question ID : 673502979
Status : Answered
Chosen Option : 1
Q.9 Who won the Australian Open 2021 men’s title?
Ans o A Novak Djokovic
#% B. Daniil Medvedev
x C. Rafael Nadal
x D. Stefanos Tsitsipas
Question Type : MCQ
Question ID : 673502980
Status : Not Answered
Chosen Option : --

aTer) W 82
Ans X" A ATt
25 B. fef w gga
X C.ugmeH

W D.sefiag

Q.10 3 & wIF T1 afderrg A Uit & SR SEifSia g aren st g T (arft wis @ty

Question Type :

Question ID
Status

Chosen Option :

MCQ

1 673502978
: Answered
4
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